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Topic:- Child Development & Pedagogy (CDP)

1) Comorbid means: / e | S (He>rdr) &1 I %:

1. It describes a disorder or condition that may co-occur with another disorder or condition. / g Udh foeR a1 fufa H19u
HT 8 ol ot 3 fapR a1 fRUf & 1y 8y I 3|

2. A condition can appear independently and have a detrimental effect on performance. / ?ﬁ_st TGRSR RSURS R C I |
el § SR TE=H W FHGRS THId STel Tl 3

3. A cognitive impairment can shorten lifespan. / 3D BT - Slia T B BleT WW%I

4. None of these. / E:Fﬁ T ﬁ’sﬁ '_‘@TI

Correct Answer :-

o It describes a disorder or condition that may co-occur with another disorder or condition. / g Udh faeR a1 fRufa 1 9u
HT § off ot 3 fapR a1 fRUfy & Ty &Y I 2|

2) What is the second leading cause of death in adolescence? / fHF=IRTaRIT A HG PT g THH PRUT =T 2
1. Road traffic accidents / HSh IIdTUTd E\{‘Ejz:l'l'al
2. Suicide / 3THg T

3. Psychosis /J:I:hﬁ@—ﬁf
4. Drug overdose / ST Jae

Correct Answer :-

* Suicide / MTHgl

3) UDL stands for . | gEiua &1 faRga & H
1. Universal Developed Learning / gadd Sats @f

2. Universal Dynamic Learning / qﬁaﬁﬁ SIS aff
3. Universal Design for Learning /qﬁaﬁa f&oiTe Bk @
4. Universal Disadvantages of Learning / W f&weaied 3w SIBE

Correct Answer :-

» Universal Design for Learning /m SSIER RV SIGE

4) The meaning of gestalt is



1. Excitement / 3cdlg
2. An integrated whole / FCI\UT THTHT
3. Perception / YIRTI

4. Insight / GHé.f@

Correct Answer :-

» An integrated whole / ﬂ'q;Uf TDHIHRT

5) According to Piaget’s theory of cognitive development, complex thoughts form during the ACLIcE ]

AT fAPTaare Rigid & 3R, SRRa farR & = 3 21
1. Pre-operational stage /@-@W S{ART

2. Concrete Operational stage /ﬂﬁw S{aRT

3. Formal Operations stage / ST Tfshar vt

4. Sensory Motor stage /ﬂé?ﬁlﬂaaw

Correct Answer :-

e Formal Operations stage / SioTie Tfhar srawit

6) According to Kohlberg’s theory, at what level does the child adopt rules? / aﬁﬁ"f% Rigia® SR, Il
fa TR W Frawl @1 Wierar g2

1. Universal ethical principle orientation / Id+ifire Afde Rigia G:E@WUT
2. Post-conventional level / UY-URARD TR

3. Pre-conventional level / @-WW RN

4. Conventional level / RS TR

Correct Answer :-

e Conventional level / RS TR

7) According to Urie Bronfenbrenner system is the small immediate environment the child lives in. / q:?r

NPTIR P IGAR, YUl a8 SIeT 31 araravvr § s s=m wwar |
1. Macrosystem / ApiRey

2. Exosystem / Q’ﬂ‘\“ﬁﬁ@

3. Microsystem / II'IE@W

4. Mesosystem / e

Correct Answer :-

 Microsystem / AgHhIRReT

8) What is used to determine eating disorders? / T ¥ feRi F RuiRa s & ﬁl’E T TN T Sirar %?
1. Weight index / HR Jdbih
2. Weight mass index / HR SIHIT W



3. Body mass index / TRIR GHH YAbhidh
4. Body height index /R R4 é W

Correct Answer :-
« Body mass index / ¥ IR 7= gdhih

9) What term best describes a child’s difficulty in learning a new way to do a task he has already learnt? /a's'u'c:ﬂ‘r

gﬁaﬁﬁwwaﬂm@ﬁ@ﬁﬁanﬁaﬁaﬁ%qﬁmmmavhm%,vﬁwﬁm@fﬁvﬂmgan

1. Proactive interference / 9fhd E’Hc’ﬁq

2. Retroactive interference / 13\?§<_>‘3|'|'5ﬂ gWay

3. Cue-related interference / Hohd-GaId g&I&d
4. Semantic interference / YegTd EXIET

Correct Answer :-
« Proactive interference / 9fhd E’Hc’ﬁq

10) What task did Piaget give children to understand their hypothetical-deductive reasoning? / g = =i &t

I BIeuf-Tob- FHATHS qd P wweH & e« ord faar
1. Pendulum experiment / ﬁg?m BT TN

2. Bobo doll experiment / CICH ﬂ%'cﬂ BTN

3. Visual cliff experiment / €T d&Tq AT

4. Shadow experiment / ST UGN

Correct Answer :-

 Pendulum experiment / ﬁgﬂﬂ Eak*pinl

11) What does the theory of learning by Insight mean? / e (191%0) & Treaw A SAfeRTH & Rygia &1 o

&

1. Learning which requires higher order mental processes like thinking, reasoning and intelligence. / 3T & ferg four,
T 3R g ol I St AR ufhansit &) srazgear gidl g1

2. Learning by trial and error where problem solving is characterized by repeated, varied attempts which are continued until
success. / TATH 3R Ffe GRT AT AT et T o) fafis Uard gRT SR-aR &6 &1 U fa=ivar §, shfes
Hherdl o ORI XG5 |

3. Learning that occurs by observing the demonstrations given by an expert and imitating his movements. / SR S U

s gRT AT 7T el ) 3T 3R 37 FIR I B Thel B A el 2|

4. A type of learning or problem solving that happens all-of-a-sudden through perceiving the relationships of various parts of
a problem and understanding the situation. / T% UPR & HTTH I THET B 8 BT ol [l THeT & fafvre fewat
& el I TS SR I U B G & HIHH J 3@ gl 8|

Correct Answer :-

« A type of learning or problem solving that happens all-of-a-sudden through perceiving the relationships of various parts of
a problem and understanding the situation. / Ydh UhIR & AT I1 T Y B DAl SN foreht = o fafvr %@
> Tatll BT g SR 39 UM 1 TS & HILm J S-S oIl gl



12) Name the disorder that causes lack of attention. / 39 fapR H1Aw a?qu S AT 1 B BT PR 4T %?
1. Dyslexia / ATh DR (FSTifaRam)

2. Dyscalculia / %ﬁ@'—ﬁ’lm

3. Dysgraphia / feauftean

4. ADD/ADHD / USI8] /USIuag!

Correct Answer :-

. ADD/ADHD/Q@ S /Qé Qﬂ@

13) Which model, proposed by Albert Bandura, explains human functlomng and personality as caused by the
interaction of the behavioral, cognitive and environmental factors / 3feac m IR yTfad aoiFr AT HISH AR,
wﬁmaﬁ?mhwﬁumm%qwﬁm%mmwwmﬁaﬁvwmﬁmm%o

1. Self-efficacy / STH-YHTIHTIRAT
2. Reciprocal determinism / IRWRS Fafadrg
3. Trait theory / Hfddd Rl

4. Sublimation / & EdUTdh

Correct Answer :-

» Reciprocal determinism / RN Fafdadrg

14) Which of the following promotes the recurrence of a behavior? / fafafead s U HUdgR 3|
YRR & 9¢1a1 a1 372

1. Reinforcement / W

2. Latency / JYutdl
3. Chunking / T

4. Punishment / §8

Correct Answer :-

» Reinforcement / W

15) Which of the following theories focuses on processes involved in perceiving and handling information? /

Frafafad 3§ @ o a1 Rigid o= &) ST 3R 39 SgHd T $4 A e ufshareii w? $fa @2
1. Information-processing approach / W-W SUNTH

2. Social-contextual approach / THTIH -HRIRTH FURTH

3. Socio-cognitive approach / JMHTSTH IHIHD IURTH

4. Psycho-sexual approach / T IrTH

Correct Answer :-

« Information-processing approach / W-W SUNTH



16) Which of the following is one of the components of ideal mental health according to Jahoda? / fafafeada

P WATEIGT & SFHR TSR RIS WRY F gehl & A TP 32
1. Dependence / fAafar

2. Separation from society / HHIS ¥ 3aT Eﬁzﬂ

3. Freedom / XcdT

4. Positive attitude towards oneself / TG & Ufd GPRIHD ?@ﬁm

Correct Answer :-

« Positive attitude towards oneself / T & Ufd YBPRTHSD ?WUT

17) Which of the following statements best describes the Zone of Proximal Development? / fafafRad ¥ s

HYT FHUR TP F &F BT I 33T 9uIH BT 872

1. The difference between what a learner can do without help and what she or he can achieve with guidance. / T QT&H?—ﬂﬁ'ﬂ
TEIdl & T HR Fhdl/Thd! g 3R ANTGRA & TIU-T1 98 T BRI PR Ihdl/Ibdl 8, 9P d1d Bl 3R |

2. Academic, Knowledge based tests gauge the intelligence. / 3BTe (o, T MR Ut & FfGHTT &1 Ul Ieldr |
3. The child develops the required skills on his/her own. / ST 309 GH TR 3{TIRIH DI [AHRId HaT 8 |

4. Discover everything on own. / Jd $& Y g @ o

Correct Answer :-

« The difference between what a learner can do without help and what she or he can achieve with guidance. / U&%

Rremiffam Teradr & a1 HR FHdyTed! § SR ANIGRM & I1Y-T1Y 98 T 1R B Fhdy/Ihdl 8, 39 o1d BT
3R

18) Which of the Thorndike’s laws emphasize preparedness? / 2117[3133? BT HI4-91 fAgH dgia) ) s ar %?
1. Law of Exercise / 3{% &1 fAgq

2. Law of Effect / WHTd &1 109

3. Law of Multiple Response / §g yfaferan &1 fAam

4. Law of Readiness / ddRdl &1 a9

Correct Answer :-

« Law of Readiness / d&Rdl &l fAgd

19) In scientific investigative learning method, ./ aﬁlﬁﬁ? Gm YT ST Usfa ﬁ, .
1. children discover the scientific idea completely. / =i &I 3T TR T RE F UdT Tad €1

2. children work without guidance. / T ANTeRA & for T &1 HRd %’ I

3. teacher guides the children completely. / fRrefes = &1 o Trfes Har %I

4. teacher gives inputs when needed. / R1e SR UsH R 31YcC adr %I

Correct Answer :-

« teacher gives inputs when needed. / Rigi srea Us+H IR gYC o %I



A child is watched carefully by his teachers because his friends are known to cause trouble, even though the child has
never done anything wrong. Which of the following is descriptive of this? / T T Bl TP RGP gRT 4 I &1
STdT 8 TP 3P SRl B YRR BT HRUT AT 1T 8, HA &) 9= A w4t oo e =8 fvan g1 Fufafaa
H q P T BT UHTHSD 82

1. Algorithm / T@TIRYA

2. Transductive reasoning / URITHT LCg

3. Representativeness heuristic / 3{%TdGT %W CSIGICED)
4. Anchoring heuristic / JHIIT %W @Huﬁﬁ)

Correct Answer :-

» Representativeness heuristic / 3T %W @ﬂlﬁaﬁ)
21) Who are backward children? / ﬁ@@_;/ dfaa ﬁﬁq%’
1. Slow learners / HG SiferTaeRdf

2. Delinquent learners / ﬁﬁ&I'UT SferTaedf

3. Handicapped learners / feagt siftrmreat

4. Exceptional learners / STHIYRTT Giﬁl'm:lﬁf

Correct Answer :-

« Slow learners / HG SiferTaRdf

22) The last stage of creative thinking is : / I ITHD i1 @1 sifaw TROUT B:
1. Incubation / &HSHIIA

2. Verification / JATU

3. Preparation / R

4. Evaluation / JedTh1

Correct Answer :-

* Verification / AU

23) The Dalton Plan was created by: / STecH YIS T gRT a=n§ Tlg &
1. John Dewey / \—,-|"’|:[§—5“

2. Francis Galton / TifR fee

3. Francis Dalton / Wif9 Sleed

4. Helen Parkhurst / %ﬁq tﬂﬁé

Correct Answer :-

e Helen Parkhurst / %ﬁ? W

24) A student should be allowed to learn in the mother tongue as it makes easy. / U ST Cg| HIJHTYT |

e ot srgafa < o @iy wife a8 B AT T 811



1. Comprehension / Y
2. Perception / TdgA
3. Creation / T 1 Gi¥

4. Reproduction / YT

Correct Answer :-

o Comprehension / Y

25) More Knowledgeable Others and Zone of Proximal Development are the main principles of theories
on cognitive development. / 3T STHHRY 3R THIUR AP & &7 IFHTHS QAP R Rrgial
F g1 R g

1. Kolb’s / PIcd

2. Piaget’s / ot
3. Dewey’s / 39

4. Vygotsky’s / awﬂ?\%‘i
Correct Answer :-

» Vygotsky’s / CIEUIRS ]

26) A large number of schools do not have a provision for teacher in the school. / fo'?ﬁﬂ"«’l"\‘?ﬁﬁ'ﬁ
Rrere w1 U@ T8 81

1. Extra / JfaRed

2. Special / faRRy

3. Co- class / Tg-TRI&M
4. Assistant / Jelddh

Correct Answer :-

e Special /ﬁﬁ'@

27) are the basic needs according to Malow’s Hierarchy of needs. / Rl &

RN & YSIshH Pt TGS F IR FHAAd oewd g

1. Safety and Esteem / {R&T 3R STH

2. Physiological and self-actualization | AR 3R -y

3. Belongingness and love needs / fayra 3R TR P ATTIDH T

4. Physiological and safety needs / TRIR® AR ﬁ?&ﬂ?ﬁ ARG hdl

Correct Answer :-

« Physiological and safety needs / X Hfkw 3R {:R&ﬂaﬁ TR h dl

28) Which of the following can a teacher not exercise to overcome misconceptions? / Th e Taa

YRS BT g HIA F o 370 A fFaeT sgeR 78 H qHar?



1. Immediate feedback assessment approach / dehIc] gfafeear W PP

2. Self-directed learning / 3{TH IEENER=RIRCE |

3. Quiz style assessment both before and after a unit / Ydh EWIEc q g 3R 918 7 UL et 1 Hedih
4. Flipped classroom approach / fOhkTy we e aIo

Correct Answer :-

« Self-directed learning / 3TH e H e

29) Which of the following theories is also known as modelling learning theory? / fafafaa A e
Rrgia & ufosgui(aisiin sfinm frgia & T o 5= S 82

1. Developmental theory / AT ® (Saagdicad) i Rigia
2. Social learning theory /TS SR Rigia

3. Transformative learning theory /Wﬁﬂﬁﬁ Wm
4. Insight learning theory / Gi?lé@ (3T91Z9) 3T Rigid

Correct Answer :-

 Social learning theory /H’I’H’Iﬁlﬁ SfRTH Rrgia

30) Thinking most importantly involves: /ﬁlﬁ?ﬁmﬂﬂﬁ'{uﬁﬁ?ﬁmmﬁmé ?
1. Aptitude / STAFTT

2. Memory /@{f?[

3. Reasoning / GE2
4. Attitude / G-Fﬁ-l?{ﬁl

Correct Answer :-
» Reasoning / GE2

Topic:- General Sanskrit(L1GS)

.
St I dfe e |
A TE eIt |
L T AT =i |
SAT: TEH Aot |



Correct Answer :-

ATS1: IEd Aot |

2) - [
gd: ___ SiPEld |
) T
du:
2.
CLR|
3.
4, aTFL



2.

Hie: |
3.

SN |
4,

5)

AU ST Flﬁ‘ollrﬁv%q: % ?

Al + VB |

1
Sl + AEIH |
e + VBT |

3.

) e + SAEUH |

Correct Answer :-

2. qﬂ:
e

3.

4, JJE:

Correct Answer :-



“Hegdae’ gd: & ?
Fisgd: |

1.

2. q&: |
H: |

3.

4q-|rg:|t'ﬁ|

Correct Answer :-

8) -~ [l a
HeAYhIdS Ug 4]l -
1 R |

.

ZTIT'3|'E"5=|
1

, A |

. FE: |

Correct Answer :-



. 200
500

3.
300

4.

Correct Answer :-

300

AT SAH |

3.

T S |

Correct Answer :-

AT S |

11)

FIET’ 5Ta qeg T 3: &:?
,

LY

qid: |

2.

, Sdl
ST |

4,

Correct Answer :-



12)

LA LY
"RETIH A A9: & ?

lmhl

zamﬁﬂl
¢
&M |
T
| |

Correct Answer :-

Correct Answer :-

. ﬁ O

14)

_aE |

2. 2 |



T |

SR |

Correct Answer :-

TR |
ey |
3 SERAY |

Correct Answer :-



17) > I T o "E{Hgﬂﬂ'}ﬁ]ﬂq?
1 i
R o e
2.
3. ]
o
S
4.

& |
z.Eﬁ@%l|
, T
433?‘-“

Correct Answer :-

19)

‘T T FEN: HT TgH T ?

1. ‘\|



2. |

3 TS, |
Ly =
, JdHTAES |

Correct Answer :-

ST |

21)

Correct Answer :-

3



22)

Tl A 4 Tl e T G2

. N =,
[HITH~:
1.
-,
AHAHA:
2.
. =,
LS| ELSESE
3.
-,
H{HA:
4,

“THAGIY HSINIUT i+ FHATGY” TS HEHT AEHId IGd:?

ST RITg A%l

1.



Correct Answer :-

| FOEERa

25)

FISETEET HETHA Td —

[ ‘\t‘ﬂ. [ r\r\*a

EHATEE TR 5
3. E 1 ‘ ; a
4 . . . a
Correct Answer :-
. . . a



Correct Answer :-

27) [ o =
[gid RAT9E HSHTd: e |
i
g
2.
fas
3.
. LS

Correct Answer :-

28)

3g: A &: ?
. flTh

ERll
2.
3. qa:

fHers:
4,



2.

Y

™ |
3.

Y
, (e

1.
T Y
HIHIA
2.
o [y
SREEIRIG|
3.
=
4

Topic:- General Hindi(L2GH)

1) ‘@’ 3 Al & 91¢ T Y| YI§ TG N SR 3@ 38T YT {6 T 3t 9vg AR A T, "AIgFaT’ Bt 9 gt =it
Y3 & SIws, df g9 YavTy ot Yorsd A Jws HiH & gad # 91 o1 51 I8 3t gt aPps At 309 H eciad
TU IS, “Pel & W2 31 AeT g3 Fae & 7 17 3R oid i &1 gaar I ghs | 37 71, 9 S5iA UIvr-urdl | ¥ S
SIS Y I-GX HY STl | VR Wb TR g 3R 3T Y B SipaR A ¢ A €, 50 a7 @S Ted &1 %’ & 71 § 7l forem?
T 3T G JHCH? TA A @ Rorar? gxfirer =1 AR 3= gaen € 3@ fan) gaen sufng suet yensit & Hig foar %
S ATqH o1 i & yavry @ et ve1 7| Froeht 30 &1 ve e A sann & &7 ot aRre oman 8 ok T & 91y do@R I
B gI-dI e RN el wear 811 59 JI-1 & 918 9F a8 Ja Td o, df A9 IR A o= 71 &) guam R fean
3R s, Sl Ag TP 16! # Bls Y| UG & 3R P 814, df 3/ ATGH giaT fr 98 ANTw- B Faw ¥ RusT gu
T B T YARIY 51 SR v, d gael g1 S T Ao

ST T P UGB 19 U T Y BT IR 9q153:
- 'F' 3R T B ATHRIVS SIS T 32

1. G4

2. fepamug

3. fa=iwor



4. -H

Correct Answer :-

2) ‘&' F3 Al & a1 3T A1 Jag I NHY RATR <@ 61 AT fh T 31 avg FHR A T4, ‘OIgaaT’ &1 avg gt Uit
yoraff # SrepgT, df Y YavTg B Yol # sevs Wi & gaa $ ure o1 51 9% ot € s 0t sid J ealad
§U UBT, "Fel 8 W2 31 deT1 g Faw A @ F1” 3R 9 N &1 gaar It uhs | 31 T, 9@ S wIvr-urdt | ¥ s
TP S P W-TR B STATI T Hidh W §H SRR 30 Jad Bl iPHaR T ¢ 3d 8, 50 AT WS ¥ed 8 1'%’ A 71 § 7ot fyeme
T 391 G THeH? A A @ ferar? e 981 89 era=n gaan 8 39 fan gaar sufee sust yensit & Wiy fear fe
3 AT o1 5 & yawry & fre vo1 7| ot 79 &t g@ s = arar i '@ sroit SR o § 9k T & 61y d5e)
&1 Q-7 9 T el ST 611 0 Ya1 & 91 9 g Fa¥ T o, ot 77 IR | S0 79 1 gy e fear
3R fE, FH Tz TP 16l A Bis {1 YT F 3R Hie B4, d@ S/ UIgH gl fF 98 AT B Fao A Ruse gu
31 B BT YRTY 99 AT $¥, A Gaam g1 3T g1 a1fgql

SUY TR Y UgHR 1 U Y Uy BT 3T daTgd:
UH- 9E@S ' ¥ f5d WiaAn | 1 i

1. Yagld-l

2. 3T

3. JHHTGAT
4. TYYd®H

Correct Answer :-

3) ‘&' $g Afel & 91 T A1 Ja§ I NHT RATR 3T V&1 4T % THTH 31 v W § T4, ‘91T’ &1 avg gt Ut
yoraff # ST, df Y YavTg B Yol § sievs Wi & gaa $ Ure o 51 9% It € s &t sid J ealad
§U UBT, "Fel 8 W2 31 deT1 g Faw A @ §1” 3R WG 1y &1 gaar It uhs | 31 7, 9@t S wIvr-urdt | ¥ S
TP S P W-TR B STATI T Hidh W §H SRR 30 Jad Bl iPbaR § ¢ A §, 50 AT WS ¥ed 8 1 '®’ A 71 § 7ot fyeme
T 391 g THeHT 1A A @ ferar? e 981 A7 3= gaan 81 39 fan| gaar sufee su«st yensit & Wiy fear fe
3 AT o1 6 & yawry & fre ve1 71 ol 79 & g@ e = arar % '@ sroit SRt o 8 9fR T & Wiy d5e)
&1 Q-7 ¢ T et ST 511 $0 Ya1 & 91 I« g Fa¥ T o, df A7 IR A S0 79 1 guad e fea
3R FE, Fh Tz TP 16l A Bis 1 YT F 3R Hie 814, d@t SV UIGH gl % 98 AN B Fao A Rusne gu
31 B BT YARTY 59 AT $¥, A gaam g1 3 g1 a1fgg|

IUT TR P UgHR 12 IR T WY BT IR 9ad133:
- ‘FII 45 A T A g2

1. GICI-Tah 38

2. SR T

3. faaa dg

4. PIAIYUAT®

Correct Answer :-

. PicI Y HA I

4) P B3 Al & 91g MY A1 Jag§ I N SR 3G 3871 YT i T Ft IR FR § g9, AIgaa It avg gt oo
Y13 & ST, df g3 YarTY B Yorrsi d ws Hi & qad ot a1g off 715 | 98 YavTy 3t 1 9bs A1 3 yav1y A eeied §v
ToT, “@gl € W2 3 92T g2 Faa A T o1 3R o WiH BT gad I7H) uds § 1 741, df IR vr-ard) He A 5@ wes
B WX DY STAT1 T WP T H RR 30 Yad B 3haR A ¢ 34 §, 89 3T T2 84 21 & A 71 & 7 foreme
IO O W T A @ R g 98 393 sroan gaar € 37 faun gaar sufe swet ywnei # Hi fear i g
AT o1 & & yavy @ et ve1 51 ol va ) o i 3 qaman i @ oo SRRTe M § SR T & Wiy 5% [ Pi



QI-d19 9 R el ®var @11 §9 ga1 & 91 od 98 Ja¥ Td o, of A9 IRR F 39 79 1 guary fager far ok
g, $dteh g SuS a1El # Bls § | UIaT & 3FR Bie g, d) 3A AIGH EielT [P 98 ANTEH! H) B & RUPC g d | oa
BT YRTY I AT B, T gaer g1 3 g1 A |

ST TR B UGH -1 I T U $T IR qaA180:
- @S 7 f5d SR Y & &Y gorT yaR1g A B2
1. UT0T-9Tel} &g fea & &Rut

2. B3 HigH 91 fieH & R

3. BIRIq BT [ &l b HRUI

4. T A & BRI

Correct Answer :-

. JIU-gTd W fdam & HRuT

5) ‘@ B3 Ul & 91g 3T Y| Yag I N SRGaR 3@ 37T AT % T Ft TR FIR | g9, IgTa It avg gt S
Y13 & ST, df G YarTg B Yorrsi d ws Hiu & qad ot a1g o 5 | 98 YavTy $i 1 9bs A1 3 yav1y A eeied §v
ToT, “@gl & W2 3 92T g2 Has A T o1 3R o HiH BT gadr ITH) uHs § 1 74T, 9 I9A Wvr-urd) He A S wee
F TR-X B STATI T W W gH 3R 307 Tda Bl ABaR | ¢ 3 €, TH 3 TS 84 81 & & 71 & 7 freme @
I g5 FHedR A | T forar g 81 A9 oA yaan € 39 i yaar safie swet yensi § Wiy faar fh g9
AT T % & yavry @ it ve1 51 ol va ) o i 3 qaman i @ Sroi wRTe M § SR T & Wiy 5% [ Pi
S 5 g} it Hvar 8T1 59 JIAT & 915 99 98 Fav T @, d@F A9 IR | 3R 19 H1 U fawer far sk
e, Fdieh g IUSP! 18l # Bls &Y | UTaHT & 3R Hie i, d I/ ATGH BT fF 98 ARTE &) Haw A RIuse gu el oa
BT YARTY oI AT B, A Gl 81 3 g1 A |

ST TR B UgH 1 IS 71T Uy T IR Ja133:
- U § g SR Argal T gid 82

1. 91

2. fFar

3. gHaTT

4. 3=

Correct Answer :-

6) ‘@ B3 Ul & 915 3T Y| Yag I N SRGaR 3@ 37T AT % T Ft TR FIR | g9, WIgaa It g gt o
Y13 & ST, df g3 YarTY B Yorrsi d ws Wi & gad o a1g off 5 | 98 YavTy 3t 1 9bs A1 38 yav1y A eeied §u
ToT, “@gl € W2 o 92T g2 Sas A T o1 3R o HiH BT gad ITH) ues § o1 74T, 9 IR wvr-ard) He A 3@ ses
B R-IX Y STAT1 T WP TR §H RR 30 Yad B 3haR A ¢ 3d ¥, 89 3T T2 84 21 & A 71 & 7 foreme
I g5 G A | T forar g Y1 A9 oA yaan € 39 | yaar sufie swwt yensi § Wiy faar fe g
AT o1 & & yavry | it ve1 51 ol va ) o i 3 qaran i @ Srui wRTe M § SR T & Wiy % A i
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ArTt g gfran-sr | afar g T Ul R dur i

IEd g s AT, | 7T TSt gadr, |l

WH-HUT Uf UiTa foaRg | P dg S uRzg



&g 1 T o1, BT 7 die o il 2
il 9% e FET g HaX gg aIa |l

I ULIIRI $ Ugh 12 IR 7T UY T 30 Id133:

U=H- U UfRTal & SR o A S f5a Tile goar g 3k &1 frd 9u gear g2
1. BIs ) off =1eff

2. A-0S Hl

3. U a¥g3fl Bl

4, T I DI

Correct Answer :-

. B3 [l ot T

30) A uft sy ufSaws 93 | w1 fr gwg frg SR T <ggm i
Hgg Ya-T ol R SURTEY | & HF AW & ¥ T8 i

a1 frasy, 1+ vron Ftwt | fea Riga, gt uefaf it
= 3T ¥ U 3[4 | fag % a3t fFARa amar 211
ANTH Tg G- | Srar g T el fRadur i

799 g WS VT, | AT TS G I

WH-HyT Uf Hifa faarg | I dg s S uRg I

&% 7 G ST, B 7 A6 o 1 2

Wl g8 Ue BeT g Jav gg 9 Il

ST UL 1 UgH A IR T Y BT IR qA153:
UH- Bfa & AR 39+ 5w 59 ord o1 qugman
1. fagFi 1

2. 9l &l

3. OT3 ] &l

4. gfosdl @

Correct Answer :-

. gftsdi &t

Topic:- Social Science (SSC)

1) Which among the following is the driest desert on Earth? / fFafafEa & ¥ @19 a1 gt W e 3@ IRaH 22

1. Kalahari /m

2. Tabernas Desert / TR IR
3. Atacama / S{CIHTHI

4. Gobi / &t

Correct Answer :-

o Atacama / 3{CIPTHI



Match the inscriptions with rulers

1. Mandasor Pillar inscrption | A. Chandra Gupta
2. Meharauli Pillar inscription | B. Skanda Gupta
3. Bhitari Pillar Inscription C. Pravar Sena II
4. Chamak Copper plate D.Kumargupta I

| emEeRt & ary fEremerE & B

1. AR TaH Riemerd | A, 9g wd
2. Fglel TasT fAeme@ | B. T&he aed
3. ol Taow fAiee@ | C. wat @aT I
4. TAHE FHIU T D. AR A
1. 1-A, 2-B, 3-C, 4-D
2.1-D, 2-A, 3-B, 4-C
3.1-D, 2-B, 3-A, 4-C
4.1-D, 2-C, 3-B, 4-A
Correct Answer :-
.« 1-D, 2-A, 3-B, 4-C
3) FIIs stands for . | THIATSIME HT Ul =4 Bl

1. Foreign Institutional Investors / BRA 3@@:@ m
2. Foreign Income Investments / BRA QI1PH 3@@?

3. Foreign Investors Income / BRA WW

4. Foreign Investment Index / tI’T\IQ_"T W’C’ 3@3’\‘:[

Correct Answer :-

« Foreign Institutional Investors / TRA 3% RIEN ey

4) The most appropriate criterion that determines the selection of a teaching method is: / T SUYdd s St
e e usfa & o ot fuffva swar @:

1. The nature of the subject matter / ﬁw-aﬁ Gl W
2. The classroom environment / P& T dIddRU]
3. The availability of resources / I1eH! B UASKId

4. The incompetence of the teacher / fRrerd &1 3remdm

Correct Answer :-

« The nature of the subject matter / ﬁw-?ﬂ{[, Gl W



The vesara style in the building of structural temples was developed by: / TRAATH®D Hfe| &
frmtor & 3R el A g1 fa e ot 71s o8-

1. Pallavas / Uecld
2. Chalukyas / dTdad

3. Guptas / &
4. Mauryas / o

Correct Answer :-

« Chalukyas / dIJa]

6) Development is a and nonstop process at all periods and stages of human life. / faom
A4 Sitad & G+ 994 SR ol § T 3R AiRery ufpar g1

1. uniform / THIHT

2. important / H%c‘cﬂ{ﬂf

3. general / HTHI]

4. continuous / Idd

Correct Answer :-

« continuous / Idd

7) Students are split into small groups for a specific period of time and are made to discuss a given issue or

topic. This method is known as: /Wﬁwmwm%m@%Wﬁﬁmﬁﬁmm
? 3R fod T 1E, a1 faww W feaR-fawt wwmar smar 81 98 usfa FEard g

1. Brainstorming / W (é??ﬁﬂ)

2. Buzz session / o T (S5l YR)
3. Symposium / BIREE

4. Debate / ATe-fadTg

Correct Answer :-

« Buzz session / '{J,\_ﬂ REXCE] @'EZ'I:D

8) Panini was the author of / UTROTF i & d@® &
1. Ashtadhyayi / 3{¥T 2210l

2. Mahabhasya / HEIHTS]

3. Daskumara Charita / GRIHHR gid

4. Mrichhkatika / T CHY

Correct Answer :-

 Ashtadhyayi / ST



9) In projective techniques of personality assessment, behaviour is evaluated. / i THa Bt

gaRt qpPI A 18R PT Yedic (a1 STd1 g |
1. criminal / 3{ORTH

2. conscious / TAd

3. overt / YT

4. covert / U<

Correct Answer :-

o covert / AYUDhC

10) When was Sikkim created as a full-fledged state of Union of India? / RIfd®H & URdG da & 'lIUf
1Y BT git P foam mar U1

1. 1985
2. 1975
3. 1970

4. 1980

Correct Answer :-

« 1975

11) At which point of discussion, does social science differ from pure science? / 4l & fog ﬁg W,

T fas fagge: fogm @ R gt g

1. Degree of complexity / SIfeddr & g

2. Repetition and duplication / Wﬁﬁ‘f 3R m

3. Validity and reliability / AdT 3R fayz=orar

4, Exactness of measures for prediction / ‘171%5?47‘[ o forg Surimmdl ot tlﬂ'{],@?l'l

Correct Answer :-

» Exactness of measures for prediction / W?H o fore SuriaTdl S g ?%!EHI

12) Aryabhatta and Varahamihira belonged to which age? / GIT&'HE' 3R wrefufer fea qa ¥ gafia A2

1. Kusana / ©UI0T
2. Harsha / E'Ef

3. Gupta / td
4, Maurya / araf

Correct Answer :-

» Gupta /[t



13) Who among the tomar rulers established the fortified city of Lal Kot (Delhi) in 8th century? / Saﬁ

TAT] § 5 TR & A a1 P (fRweh) & fPade xrer o Ry &1 A4t
1. Anangpal / 34T

2. Lakhan Pal / @G- UTd

3. Tejpal / doTaTd

4. Madan Pal / Ha- UTdd

Correct Answer :-

« Anangpal / 3-TUTA

14) Who was the powerful woman ruler of Kashmir from 958 to 1003 AD.? / 958 ¥ 1003 g'\‘lﬁ?ﬁ? FIR

P TfeT=ITel Afga IS B A2
1. Kauravaki / Eﬁﬁ
2. Prabhawati / GHTAdT

3. Didda / fag]T

4. Rudrama / ¥ %H

Correct Answer :-

. Didda/fegT

15) Who coined the word ecology (Okologie)? / iifRufa®l (siwicrs) g o1 nfaspr feaa fear?
1. Robert Whittaker / ¢ f@geax

2. Ernst Haeckel / q:\%%aé,—(«[

3. Charles Darwin / T STfd-

4. Arthur Tansley / 3T R

Correct Answer :-

o Ernst Haeckel / QT\"LP %a%m

16) Who is the author of Ashtanga samgraha (Summary of the Eight Branches of Medicine) in Gupta

period? / T HTA W ST UG (RIS 3 3ire RATSHt &1 AR & AP P 82
1. Vagbhata / dITHS

2. Bhratahari / H?Iﬁﬁ

3. Charaka / d¥h
4. Susruta / gYd

Correct Answer :-

+ Vagbhata / dTHS



17) Who was given the title of ‘Lakh Baksha’ (donator of hundreds of thousands) in early medieval times? /

URRIS BT § @@ 8T (APS| gk} &I gran) 1 IuTry ford &t g ot
1. Balban / 9dd
2. Razia / JfordT

3. Qutub-uddin Aibak / TIIE UaH
4. Firoz Tughlaq / TORIST iTeieh

Correct Answer :-

« Qutub-uddin Aibak / PIIE UdH

18) Between whom was the Battle of Dharmat fought? / ¢Hd &1 K fred dg BT YUT?
1. Aurangzeb and Dara Shikoh / RITSIE 3fR gRT RIbig

2. Babur and Ibrahim Lodhi / d[dX 3‘ﬁ? E_GITI%I[ e

3. Akbar and Jahangir / 3{haX 3‘ﬁ? GlB'\IJTﬂT

4. Akbar and Rajputs / 3/HER 3R JISTY

Correct Answer :-

« Aurangzeb and Dara Shikoh / TS 3R gRT Rrpig

19) MOOC:s stands for: / Q'Flaﬁx?vﬁ' 3 &1 areqd %:

1. Massive Open Online Courses / g sfg= G{ﬁﬂﬁq DRI

2. Massive Open Orientation Courses / 'aﬁla 3N &Wﬂ:{ ﬁﬁ\_ﬂ
3. Massive Online Open Courses / IR 3‘|'\|’7|F‘|'|37f 3o @ﬁﬁ

4. Mobile Open Online Courses / Iﬁ‘@lﬁﬂ Khe \3‘|'T:|?1'|3:f ﬁﬁﬁf

Correct Answer :-

« Massive Open Online Courses / ARG v s{T?aTs? @ﬁﬁ

20) amendment added a list of Fundamental Duties to the Constitution. / Ty dfau= &

e pdadl Y T g sigar |
1. 420 / 40q7
2. 39t / 391
3471 / 474l
4. 44t / 4497

Correct Answer :-

o 427/ 47a1



21) Erosion by solution is termed as: / faea9 gRT 3G Y el SITdl %:
1. Evorsion / STcSRTd

2. Cavitation / Jfgera

3. Abrasion / 3{TEYOT

4. Corrosion / H&RUl

Correct Answer :-

« Abrasion / 3[qU¥Ul

22) Ramsar sites are the areas which are to be protected for wetlands. Which one is the first Ramsar site in

India? / TR WA 3 &7 & g amfyfiy & e wvféra fpar A 81 WRa & vgan IHER RIS B 9182
1. Loktak Lake / dllbdldh Sl

2. Chilka Lake / fereeT gitd

3. Vembanad Kol / dF&TS BIel

4. Kolleru Lake / ®Tci® 3itd

Correct Answer :-

« Chilka Lake / feieent Sitd

23) The curriculum principle that allows necessary changes in its content and methods as per the changing

needs and situations is . QWT LIGDER ﬁl&'ﬁ %, il W?ﬁ Smazgedrsi i uRfRifaat:
F AR AU fawg-avg iR usfoat A smaxas uRkad= amar 3|

1. Principle of integration / TR0l BT Rigid

2. Principle of flexibility / @I &1 gl

3. Principle of motivation / 3THURUT BT Rgia

4. Forward looking principle / e fRidr &1 Rigid

Correct Answer :-

« Principle of flexibility / GEIREREINNER

24) The teacher’s mental and emotional visualization of classroom activities is: / PET Wﬁlﬂ@ﬁm‘r *» QT&W

B AARIS SR UIaTTHAS FeaT 71
1. Year plan / uifg e

2. Lesson plan / UT& BISEN|

3. Unit plan / EWI_Ec BISEI]

4. Resource plan / T BISEI]

Correct Answer :-

 Lesson plan / UTd i



25) The committee headed by Prof. C.H. Hanumantha Rao (1984) went into the question of evolving
methodology for planning. / Y. T Q9. TIHT I & A& aTelt AAT (1984) B
e & fore ugfar faesfRra == &1 gy wiar wan

1. District Level / INNIESER
2. Village Level / TTH ¥R
3. State Level / 59 WY

4. Block Level / AIp TR

Correct Answer :-

« District Level / fore TR

26) Which Act drastically redrew the boundaries of states and territories in India, organizing them along

linguistic lines. / o IR 3 URa & Irsat 3w &= @) Whrait &1 S1wl 3¢ a@ 9 32 far ik
Io UTTS T3 & 1Y yafyd far

1. States Reorganization Act, 1956 / Is0 -1+ 3ifAIfaH, 1956
2. States Reordering Act, 1959 / 5T :3JshHUT AT, 1959
3. States Reordering Act, 1963 / 58 G:3(shHUT TATH, 1963
4. States Redrawing Act, 1957 / Id G 3ififad, 1957
Correct Answer :-

« States Reorganization Act, 1956 / 5T G-¥i&+ 3ifAIfaH, 1956

27) Which among the following is not a criterion for writing Instructional Objective? / fafafadd s

PrERTere S239 RrEa ¥ e #1¢ Ards T8 27

1. Specification of the learner / ﬁr&mﬁaﬁ ﬁﬁﬂ@?ﬂ

2. The nature of the school environment / fa=ITeRI & AR &1 Upid
3. The learner performance / fRremeff &1 U=

4. Adequacy of instructional objectives / [RERIGAED G%{‘\’Eﬁ B e

Correct Answer :-

« The nature of the school environment / [deTad & IIT_aFT Gl q@ﬁf

28) Which among the following models of teaching belongs to Social Interaction Family? / mﬁ k)

fRgror 1 1 w1 ufowr "o oia: firar ufvar & wafta 32
1. Inquiry Training Model / Y&dI& PIREUIREIE]

2. Non-directive Teaching Model / SfRra Rigror ufeam

3. Advance Organizer Model / 3R TSI UfaHM

4. Partnership Learning Model / |TIT SferTH gfaar

Correct Answer :-



« Partnership Learning Model / TSI 3T Ufcrdm

29) Which battle was fought between Ahmad Shah Abdali and the Marathas in 1761? / 1761 | 3gHq 2T

JgTelt 3R RIS & ST HIH-A1 G5 §3MT UT?
1. Battle of Tarrain / dRTgT T Y&

2. Battle of Khanwa / @Idl ®T Y&

3. Battle of Buxur / SRR hT &

4. Third Battle of Panipat / UHIUd T ?‘Fﬁ’q J&

Correct Answer :-

« Third Battle of Panipat / gTad &1 Q(‘nq Y&

30) Which Jaina Saint is credited with introducing Jainism in South India? / E,"fEI'UT YR § 9 gy &t

AT B BT 4T f5d S Wd B o1 82
1. None of the above /Wﬂﬁﬁﬁmqﬁﬁ

2. Sthulabhadra / ¥JIH%

3. Indrabhuti / SEHg
4. Bhadrabahu / H&dTg

Correct Answer :-

+ Bhadrabahu / Hdlg

31) Where was the First Jain Council held by Sthulabahu? / ¥[ddIg §IRT UYH S ufkug ﬁ‘fﬁ?ﬂ'&; Tlg
A4

1. Kasi/ B
2. Vaishali / 9=ITelt

3. Vallabhi / g+

4. Pataliputra / tﬂ??’ﬁ'ﬂa
Correct Answer :-

« Pataliputra / Eﬂﬁﬂgﬁ

32) How can a social science teacher infuse affective outcomes among students? / JHITS ﬁﬁﬁ ﬁT&ﬁ?

B # AHRIAS URUTH! B HH TUIfId H qoheT 82
1. Keeping the students intact through lecture method / SRS Ugfd & A1 I BHEI ®I Sifddd Xg B

2. Adopting collaborative learning inside and outside the class room / &l ¥ 3R 3R TR W ST P
SUATHR

3. Through story telling method on freedom fighters of social eminence / TSI FVdT aTel Maaadr 141 IR
YT qTeH UGl & HeFH A



4, Through the teaching of wars and conflicts through ages / H”'ﬁ 9 ’E],?:;f 3R G| & &0 & AremH 4

Correct Answer :-

 Adopting collaborative learning inside and outside the class room / P &I ¥ 3R 3R Bl W S{fRTH B

33) Which Article of the Constitution states that all authorities, civil and judicial, in the territory of India shall act in

aid of the Supreme Court?/ﬂ'ﬁm%mﬁﬂﬁzﬁwwgﬁ W%Wﬁﬂﬁmﬁm,
AR SR <TRIw, Waler <urarerg &1 graar § orf s

1. 141
2.134
3. 144

4. 114

Correct Answer :-

34) Which was the political party formed under the leadership of Kanshi Ram? / PIRIRE & ﬁﬂa o o ot
Irerifa® urdf wfea gs A2

1. Communist Party of India / HRdId HRIAE aref
2. Samajwadi Party / JHTSTATE! OTEf
3. Rashtriya Janata Dal / ?T@'q SIAdl add

4. Bahujan Samaj Party / SgoT THTST UTC{

Correct Answer :-

» Bahujan Samaj Party / quﬁ

35) NABARD stands for ./ qﬁlé Ca| 'Tff >q %I

1. National Bank for Agriculture and Rural Development / TI'@H Tﬁ 3R yreior fasrg o

2. National Bank for Agriculture Reconstruction Development / QT@H @fﬁ q:rﬁﬂfm ICEIRCED

3. National Board of Agronomy and Rural Development / ?T@'q T 3R U iy 18
4. National Board of Agriculture and Rural Development / ?T@’q ?ﬁf Td gt fasr CIE]

Correct Answer :-

» National Bank for Agriculture and Rural Development / Tl'@'q Epﬁ 3R 7T faerg S

36) stated that ‘social sciences carry a responsibility of creating a strong sense of human values, namely,
freedom, trust, mutual respect, and generating in students a critical, moral and mental energy, making them alert to

the social forces that threaten these values’. / ® 7T wTa § fp ‘mﬁﬁﬂqﬁmw, Gf?ﬁ?[
e, fayT, TR T &) Heigd YT A48T #5343 BT Y U Agayul, Afaw ik Arfie S dar
B BI e FHTar 8, St 3 57 YUl &) @a¥ § STem arell ATHI Mfddl & g Jad exarg 1’

1. National Curriculum Framework NCF (2005) / ?TQ’IH BIEDERIEARIEEE]] Q:Fﬂ"ltﬁ (2005)



2. Commission on School Education / ¥ ¢l fRrem s
3. Education Commission 1964-66 / TRI&IT 3R 1964-66

4. The Curriculum for Ten Year School / & ITd & ¥Hd & o UTSIHH

Correct Answer :-

 National Curriculum Framework NCF (2005) / ?Tgl’q BIEDERIEARIPLE]] T (2005)

37) is a type of unemployment wherein the workers are searching for new jobs and for a temporary

period they will be unemployed. / wwﬁéﬁm%mmﬁ#ﬁm?ﬂmm
TR ¥ 3R T st erafy & e 3 SRR 38

1. Frictional unemployment / SYT SRISATR
2. Seasonal unemployment / MRS SRR
3. Structural unemployment / IRTATHD SRISATIR

4. Disguised unemployment / J=5d SRR

Correct Answer :-

« Frictional unemployment / ST SRISATR

38) is a process that involves the assembling, storage, transportation, packaging and distribution of
different agricultural commodities across the country. / Udh yfspar % ﬁﬂﬂﬁ a'QT W | fafirm ?Fﬁ aﬁ&ﬁ
F T, USRI, uf¥ag, 5RrT 3R faror wnfira g1 &1

1. Agricultural marketing / ?ﬁ fauue
2. Rural development / PICIACEIR]

3. Agricultural networking / ?ﬁw
4. Rural marketing / gretor fagquE

Correct Answer :-

« Agricultural marketing / $T8 fauur

39) Who is the present Chief Economic Advisor to the Ministry of Finance Government of India? / HRd PR &

a1 vaTera & aduT Yoy enfife waeeR #1482
1. Raghuram Rajan / YYRTH ST
2. Kaushik Basu /ﬁﬁw T

3. Krishnamurthy Subramanian / WW
4. Arvind Subramanian / GRﬁ?{ gSTHTGA

Correct Answer :-

 Krishnamurthy Subramanian / WW

40) Who is the present Governor of Reserve Bank of India? / HRA™ ﬁﬁﬁfaﬂ? CAGLUIE na=h Cac| %'?
1. Urjit Patel /Gi\;Fi(_‘l ued



2. Duvvuri Subbarao / gﬁlﬁ JsIRTq
3. Raghuram Rajan / XYRTH TSI

4. Shaktikanta Das / PUESCARKARS]

Correct Answer :-

o Shaktikanta Das / Tfadeid <g

41) Who first adopted Micro teaching techniques? / J&H Rreor gl & aduyH fHFaa sra=man?
1. Dwight. W. Allen / SaTS¢ &g, TaiH

2. Dwight Waldo / SaTS¢C dTes!

3. Michael Brown / HIghd T3

4. Stanley John / TETeH oI

Correct Answer :-

« Dwight. W. Allen / §aT3¢ S, Ta-

42) Who is nicknamed as the ‘Milkman of India’? / "HIRT & g7U JSW $T I {5 fear wanr g2
1. Swaminathan / ST

2. Sambasivan / FHTRIA

3. Verghese Kurien / Fuffer W

4. Hiralal Chaudhari / SRTATE AeRY

Correct Answer :-

 Verghese Kurien / Fuffer W

43) The concept of five year plans in India was adopted from which country? / YRd # Yaaufy giersy

YR fHH ¢/ S=TE 1% A2
1. China / 94

2. England / 3718

3. Soviet Union / Afddd ¥9

4. USA / e o4 SARa®T

Correct Answer :-

e Soviet Union / ifgad Ig

44) AMUL stands for . / ST¥eT (TTHYUEC) BT IUqu . %I
1. Anand Milk Undertaking Limited / 3TH& firew sfexcfdm fafics

2. Ahmedabad Milk Union Limited / 3fgHaIaTg fied gfgH fafics

3. Ahmedabad Milk Undertaking Limited / 3/gHGITG fHew 3fEcidh faftics
4. Anand Milk Union Limited / 3Tg fHee gf-o- fifics



Correct Answer :-

+ Anand Milk Union Limited / 3¢ fiie gfom fafiice

45) is an apex Indian governmental body created in 1964 to address governmental corruption.

/ TP Hale YR PR} 51 § St SR YTHER BT Ud1 a7 F T 1964 # s=mar w41
1. Commission Against Corruption / YSTIR & foars manT

2. Central Bureau of Investigation / B&1d S{~aN0T &R

3. Anti-Corruption Bureau / YFTR fareht @@

4. Central Vigilance Commission /ﬁ'q g dT AT

Correct Answer :-

« Central Vigilance Commission / ST Tl ST

46) is the highest court for criminal cases in a district. / T® fora # smuRIftres A & fog
T I gAY 2l

1. Court of the Sessions Judge / 94 TR BT e

2. Court of the District Judge / TS =amanefir &1 =rarer™

3. Courts of Magistrates of First Class / UYH ot & Ilﬁi@:c' ARG

4. Courts of Magistrates of Second Class / fedta 9ot & Ilﬁl@\?f GRS ICINE)

Correct Answer :-
« Court of the Sessions Judge / 94 IraTefiRr T grTer

47) Which of the following intrinsically motivates a learner to learn? / ﬁ'&lﬁl‘@ﬁ AP AT & ﬁl‘E
T et & ggw +u I 9fvd ®war g2

1. Lots of homework / ¥ W
2. Rewards / Eﬁ?\zﬂﬁ:f

3. Easy questions / ¥ ¢T HdTel

4. Interest in the topic / fava # 3

Correct Answer :-

. Interest in the topic / [a%g & ¥

48) Whose birthday is celebrated as ‘International Day of Non-Violence’ by the United Nations (UN)? /
HY&d WY (JU) SRT fuas S o) 'siavipia sifgen faaw & wu & w=wa oiar 82

1. Martin Luther King / TTfé TR Tt
2. Mahatma Gandhi / T TTieht

3. Jawaharlal Nehru / SIdTgx <ld 5\65
4. Nelson Mandela / g Hdl



Correct Answer :-

« Mahatma Gandhi / HETET gt

49) Annie Besant was a member of i QT-ﬂ e @t o At
1. Ghadar Party /&R urcf

2. Prarthana Samaj J O TS

3. Arya Samaj / 3 AT

4. Theosophical Society / fUarAfrera TraTsct

Correct Answer :-

« Theosophical Society / RRAfhea TS

50) Who plays the main role of Guidance Services in School? / faemea ¥ uriex Jarsi @ &I YfarewT
P T g2

1. Parent/ HTcl-fUdT

2. Social Studies Teacher / ATHIID T g
3. Principal / e

4. Counselor / TRTHRIGTAT

Correct Answer :-

o Counselor /UX IIQia d
51) CANCELLED

What is the SDG (Sustainable Development Goal) rank of India in 2018? / 2018 ¥ YRd P THSIGI (Tad fawg
&) Yo AT I 82

1. 130
2.124
3. 112

4. 148

Correct Answer :-

. 112

52) CANCELLED

Which of the following country is in the third stage of Demographic transition model? / fFafafEa & ¥ $i9 ar e
SHifSTH! HehHUT Aisd & diee TRur § 82

1. Kenya / &=
2. Bangladesh / ST
3. Peru/ U™



4. Canada / 1S

Correct Answer :-

» Canada/®-TSI

53) CANCELLED

Who coined the term Action Research? / TaRT et (ﬁﬂﬂ?ﬁﬁ? 3Z'ﬁ‘i-l') T[eg Bt TTAT b F1?
1. Stephen M. Corey / L VL] TH. HRY

2. Bruce Cooper / §{H U

3. Talcott Parsons / m IR

4, Kets de Vries / M SR

Correct Answer :-
« Stephen M. Corey / KB T, DI
54) CANCELLED

The approach of organizing curriculum which is more content centered is known as: / CILpER K|

ARG B BT TRDIT, &Y sifrpiwa: fvg-avg A 2, 32 FgT AT 3|
1. Concentric approach / Tobfad ef¥aIur

2. Topical approach / RS BB

3. Unit approach / ng ?@ﬁm

4. Spiral approach / RIS REIW

Correct Answer :-

+ Unit approach / QWIEc EHREaWl

55) “Roaring forties” are name given to wind in southern hemisphere commonly known as which of the
following wind. / “drad =mfery R wiféw)y” gféroft mene & e arelht g &Y fear mar am @ ot Fafafa A d
¥ ga1 & A9 | S I 82

1. Westerlies / Ug 31T Ud-
2. Trade Wind / TR Tad (¢S fdS)
3. Easterlies /Uﬁq ECE}

4. Monsoon Wind / AT Yd+

Correct Answer :-

o Westerlies / Ug 31T Ud-

56) Sir Thomas Stamford Raffles is known to be a founder of which of the following modern nations? / X

YT WABIS Yhed ot FafafEd o @ frw snyfiie Iy o1 Swumaes AT ST 32
1. New Zealand / ragrﬂﬁa’



2. Cyprus / HIUY
3. Vatican City /aﬁm Rc

4. Singapore / ﬁFTI'QT
Correct Answer :-

« Singapore / m

57) Cyclones or hurricanes do not develop within about 50 N and S of the equator because? / dshdld Ul

TWTH, YA DT & THIT 50 N 3R s & iR fawfya 78 81 & waifee
1. Ocean surface temperature is high / T &1 Tdg BT ATTHM e SaT g |
2. Trade winds converge / ARG Ud Uh 3R Bﬁ?‘ﬁ %I

3. Pressure gradient is weak / &8 UUIdT HHSIR BT |

4. Coriolis force is very weak / BIRIY THIT 9gd AR gidl 5|

Correct Answer :-

« Coriolis force is very weak / BRI GHTT dgd HHAR Eﬁ?ﬂ %I

58) Which of the following rivers does not flow into the Arabian Sea? / fFafafea 7 9 #19 H@ A4t 3RT
AR ¥ 81 98t 82

1. Tungabhadra / @’T‘L@T

2. Narmada / '_ﬂ:TET

3. Mandovi / AUSdt

4. Sabarmati / GTERH

Correct Answer :-

« Tungabhadra / QITHgT

59) The Vallarpadam Terminal, which is a container trans-shipment facility, launched in February 2011. It
is a part of which among the following ports? / YAt 2011 H RIHURA far T TeRUeH Eﬁhﬁ, Eli
PR NdiaRur (¢ig-Rade) giawr 21 s Fafafaa Oda o A feue v e 82

1. Cochin Port / CACIE] CELUIR

2. Visakhapatnam Port / mwm
3. None of above /quaﬂf[ ﬁaﬁ—{?qﬁ

4. Chennai Port / aﬂé EEUIR

Correct Answer :-

e Cochin Port /ﬁ?ﬂ:{ SGe

60) Dendrochronology is the scientific method of dating based on the analysis of patterns of tree-rings. In a
tree from which of the following zones, the analyzing the circles would be most easy? / &-d¢1d (a ﬁ"T) &



Yo & faRAWur & YR W JAUBTATIH AP SIET &1 e alie1 8| Fafifeadafra ga &
TP g8 H, aad] 1 fIxeyor H341 999 3IRIH ghI?

1. Temperate Zones / Tfidmr wfedy (%Tlﬁ_cf Gﬁ:{)
2. Taiga / am

3. Tropical Rain Forests / Swrsfesdty auf a9
4. Polar Tundra / EJ,?ﬂ'q gl

Correct Answer :-

« Temperate Zones / i pedy (%Tcﬁ_c' Gﬁ?)



